
qm=;+= ljj/0f ljlgof]lht /sd s}kmLot

df]6/ af6f] tk{m

1 kfltxfNgf lkkn?v l;ld:6f e"d]sfyfg b]p/fnL u'NdL hf]8\g] df]=af= dd{t 500,000.00  

2 lkkng]6f lkkn?v e'd]sfyfg b]p/fnL u'NdL hf]8\g] df]=af= dd{t 250,000.00  

3 sf]lx/f /fdvf]nf u'NdL hf]8\g] df]=af= dd{t 150,000.00  

4 e'ªg] kGw|d'/] hfj'gkf6f sfkmnkf6f df]=af= dd{t 230,000.00   

5 lkkn?v :jf:Yo rf}sL df]=af= dd{t 50,000.00   

6 lkkn?v s'8fkfgL nfdd]nf 7'nfvf]nf l;ld:6f h's]gf afemFrf}/ hf]8\g] df]=af= dd{t 85,000.00   

7 s'dfnwf/f /fdkfgL 3l8rf}/ lkkn?v u'NdL hf]8\g] df]=af= dd{t 51,000.00   

8 njf6f aGhf8] hDn]kf6f df]=af= gofF lgdf{0f 85,000.00   

9 lv/]kf6f hd'/f xf8Lkf]v/f df]=af= dd{t 25,000.00   

vfg]kfgLtk{m

1

cGt/]kfgL gf/Lsf]6–* yfkf 6f]n 6\of‹L lgdf{0f tyf kfO{k nfO{g lj:tf/ -8f8fjf/L 

j:tL wf/fyk_ 255,000.00  

2 h's]gf afF;rf}/ l;ld:6f vf=kf= lgdf{0f 85,000.00   

3 kmj|]6f vf=kf= 6\of‹L lgdf{0f 150,000.00  

4 du/kfgL lv/]{kf6f vf=kf= lgdf{0f 50,000.00   

5 sd]/ vf]nf lj;f}gf sf]6f vf=kf= dd{t 25,000.00   

6 wf/fkfgL wgd'8f vf=kf= lgdf{0f 25,000.00   

7 s''8fkfgL s'jf lgdf{0f 25,000.00   

8 sfnL5x/f tNnf] wf/fkfgL vf=kf= dd{t -OG6]s, kfOk vl/b_ 15,000.00   

9 wf/fkfgL lkkn?v vf=kf= dd{t -j8f ejg ;Dd_ -OG6]s, kfOk vl/b_ 25,000.00   

10 kfltxfNgf s'jf lgdf{0f 25,000.00   

11 w/dkfgL vf=kf= dd{t -OG6]s, kfOk vl/b_ 25,000.00   

12 cd[t lhjg df=lj=, :jf:Yo rf}sLdf vf=kf= of]hgf 500,000.00  

13 va|]6f vf=kf= of]hgf 150,000.00  

14 kflgr'lxg] vf=kf=OG6]s lgdf{0f tyf kfOk vl/b 50,000.00   

ljB't tk{m

1 ljB't tf/ kf]n lj:tf/ 100,000.00  

uf}d'vL ufpFkflnsf 

ufFp sfo{kflnsf] sfof{no

cf=j= )&%÷&^ sf] k|:tfljt of]hgf

j8f g+= & -gfl/sf]6_
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2 ;fd'bflos ejg lgdf{0f -j8f g+=$ ;fljs_ -;fd''bflos jg af6 yk /sd x'g]_ 75,000.00   

:jf:Yo tk{m

1 aly{ª ;]G6/ Joj:yfkg 30,000.00   

2 vf]k s]Gb| ;fljs gf/Lsf]6 ^ df kmlg{r/ lgdf{0f 30,000.00   

3 gf/Lsf]6 ;fljs ( df vf]k s]Gb| kmlg{r/ tyf rkmL{ lgdf{0f 100,000.00  

4 ;'Ts]/L dlxnfx?nfO{ cfof]l8go'Qm g'g ljt/0f sfo{s|d 15,000.00   

lzIff tk{m

1 cd[t lhjg df=lj= 3]/fjf/ 130,000.00   

2 afn ;'wf/ lg=df=lj= ejg lgdf{0f 170,000.00  

3 bf];fFw k|f=lj= hf]8\g] df]=af= lgdf{0f 55,000.00   

4 e'd]sfyfg k|f=lj= kmlg{r/ lgdf{0f 85,000.00   

5 nf]snflGqs k|f=lj= kmlg{r/ tyf em\ofn 9f]sf dd{t 85,000.00   

6

afn ;'wf/ lg=df=lj=, 7"nflj;f}gfdf h:tfsf] 5fgf, l;d]G6 afn'jfsf] h8fg ;lxtsf] 

@ sf]7] ejg lgdf{0f 630,000.00   

7 nf]stfGqLs k|f=lj=df $ sf]7f e'FO{ 9nfg 90,000.00   

8 bf];fFw k|f=lj=df % sf]7f e'FO{ 9nfg 100,000.00  

9 e'd]sfyfg k|f=lj= $ sf]7f e'FO{ 9nfg 100,000.00  

10 /ftfdf6f afn ljsf; @ sf]7f e'FO{ 9nfg 50,000.00   

v]ns'b tk{m

1 ;fljs gfl/sf]6 xfn uf}d'vL uf=kf= j8f g+= & df elnan k|ltof]uLtf j8f :tl/o 50,000.00   

;fd]bflos ejg tk{m

1 ;fljs gf/Lsf]6 j8f g+= $ df ;fd'bflos ejg lgdf{0f 75,000.00   

l;+rfO{ tk{m

1 lzj u]/f] lqj]0fL d'xfg lkw b]vL /ftfdf6f /fdkm]bL l;+rfO{ s'nf] lgdf{0f 130,000.00   

2 9\jf6] vf]nf lzv/v08 l;+rfO s'nf] dd{t 50,000.00   

3 l;Gb'/kfgL l;+rfO kf]v/L lgdf{0f 50,000.00   

4 3l8of/] l;+rfO kf]v/L knf:6/ 50,000.00   

5 /Stsf]6 9jf6] vf]nf l;+rfO s'nf] lgdf{0f 50,000.00   

6 v8\sf6f]n l;+rfO kf]v/L lgdf{0f 50,000.00   

7 s'8fkfgL l;+rfO kf]v/L knf:6/÷dd{t 25,000.00   

8 h]i7 gfu/Ls ;Ddfg tyf clen]v 50,000.00   
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dlxnf tk{m

1 cfdf ;d'x k'g/hfu/0f sfo{s|d 20,000.00   

2 gf/L lbj; sfo{s|d 25,000.00   

3 dlxnfsf] nfuL Rofpv]tL tflnd 50,000.00   

blnt hghftL tk{m

1 5'jf5't ;DaGwL hgr]tgf d"ns sfo{s|d 30,000.00   

2 kGr] afhf ;+/If0f ;f:s[lt hu]{gf 30,000.00   

3 s6'jfn ;'rsx? nfO{ k|f]T;fxg 15,000.00   

4 blnt o'jfx?nfO{ l;kd"ns knDa/ tflnd 40,000.00   

5 hghftL g]t[Tj ljsf; tflnd 40,000.00   

afn aflnsf tk{m

1 afn ljjfx Go"lgs/0f tflnd 20,000.00   

2 afn ;+hfn k'g/\u7g tyf Joj:Yffkgf 15,000.00   

3 afn clwsf/ ;DaGwL sfo{s|d 20,000.00   

4 afn aflnsf jStLTj snf xflh/L hjfkm sfo{s|d 25,000.00   

kz' tk{m

1 kz'sf] nfuL cf}ifwL v/Lb 30,000.00   

s[liftk{m

1 jLpkn vl/b 14,000.00   

ckf‹ tk{m

1 Ifdtf ljsf; tflnd 40,000.00   
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